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Open High Low Close Volume

2000-01-04 36.650322 36.650322 36.032649%9 36650322 200662321971 38
2000-01-05 36650321 37473900 36233453 3T.473900 402466776297 gini = 0.494

280 1 samples = 1869
2000-01-06 37.268044 37.473901 36.650322 36.650322 197545701266 _Vam!l? = [828, 1.041] _
2000-01-07 35414920 36.032641 35.003052 35620773 235270327441
2000-01-10 36.650321 37.062028 36.032647 36856174 276171665217

samples = 1733

2021-01-04 530.000000 540.000000 528.000000 536.000000 38770328 =0,
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2021-01-06 555.000000 555.000000 541.000000 549.000000 53030554 o
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import pandas as pd
import matplotlib.pyplot as plt

def abc(x):
path = "Total.csv"
datal = pd.read csv(path, delimiter=","', index col="Date')
datax=datal[datal[ 'Entity’'] == x]
data2 = datax[['Daily new confirmed cases of COVID-19°', 'Daily new confirmed deaths due to COVID-19']]
data3 = data2.transpose()

X=data3.columns

plt.figure(figsize=(18, 18))
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import pandas as pd
import matplotlib.pyplot as plt

‘Argentina’, 'Brazil’', 'Unitd Kingdom', 'Italy','France’, 'Japan’', 'Indonesia’, 'South Korea']

def abc():

path = "Total.csv"
datal = pd.read_csv(path, delimiter=',', index_col='Date')

plt.figure(figsize=(16, 8))

for X in country:
datax=datal[datal[ "Entity'] == x

data2 = datax[['Daily new confirmed cases of COVID-19',
data3 = data2.transpose()
X=datax.index

'Daily new confirmed deaths due to COVID-19']]

plt.plot(list(X) ,data3.iloc[1,:]/data3.iloc[0,:],label=x)
plt.legend()
plt.xticks(list(X)[::20])

plt.plot({list(X) ,data3.iloc[@,:]) #EZAFH
plt.plot({list(X) ,data3.iloc[1,:]/data3.iloc[©, :]) #ICFE abc()
plt.xticks(list(X)[::20]) e
#print(data3) 300 ——
A=zinput ("EEEZXE ") — iy
- France
abc(A) 250 | o
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import pandas as pd
import matplotlib.pyplot as plt A
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‘Brazil', 'Argentina’, 'South Korea', 'Japan’, 'Indonesia’, 'Italy’, 'Unitd Kingdom', 'France’]

country = ['United States’,

def abc():
path = "Total.csv"

datal = pd.read csv(path, delimiter=","', index col="Date')

plt.figure(figsize=(18, 18))

for x in country:
datax=datal[datal[ "Entity'] == x]

data?2 = datax[['Daily new confirmed cases of COVID-19°,
data3 = data2.transpose()
X=datax.index

‘Daily new confirmed deaths due to COVID-19']]

plt.plot(list(X) ,data3.iloc[8,:],label=x)
plt.legend()

plt.xticks(list(X)[::28])

#print(data3)
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import pandas as pd
import matplotlib.pyplot as plt
country = ['United States', 'Argentina’, 'Brazil’,'Unitd Kingdom', 'Italy’', 'Japan’, 'Indonesia’, 'South Korea']
def abc():

path = "Total.csv"

datal = pd.read csv(path, delimiter=',', index_col='Date')
plt.figure(figsize=(16, 8))

for x in country:
datax=datal[datal[ "Entity '] == x]

data2 = datax[['Daily new confirmed cases of COVID-19',
data3 = data2.transpose()
X=datax.index

'Daily new confirmed deaths due to COVID-19']]

plt.plot(list(X) ,data3.iloc[1,:]/data3.iloc[9,:],label=x)
plt.legend()

plt.xticks(list(X)[::20])
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model.predict classes(X)

model.predict classes(X)

array([6], dtype=int64) array([5], dtype=int64)



https://drive.google.com/file/d/1RU_ybi4sfoNbyHnel1wo60a6_ld6G3GD/view?usp=sharing
https://drive.google.com/file/d/1RU_ybi4sfoNbyHnel1wo60a6_ld6G3GD/view?usp=sharing
https://clay-atlas.com/blog/2019/09/28/%e4%bd%bf%e7%94%a8-cnn-%e9%80%b2%e8%a1%8c-mnist-%e7%9a%84%e6%89%8b%e5%af%ab%e6%95%b8%e5%ad%97%e8%be%a8%e8%ad%98-by-keras-%e5%af%a6%e6%88%b0%e7%af%87/
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https://www.youtube.com/watch?ab_channel=3Blue1Brown&t=356s&v=aircAruvnKk
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/\L i class Point:
def detect person{input uri, output uri): def __init_ (self, x, y):
"""Detects people 1n a wvideo."™" self.x = x
self.y = vy
client = videointelligence.VideoIntelligenceServiceClient(credentials=service account.Credentia.
Tk . ) def getAngle(a, b, c):
./key.json
’ ' ang = math.degrees(math.atan2{c.y-b.y, c.x-b.x)
return ang
config = videointelligence.types.PersonDetectionContig( _
celude boundine boxes—True def computeElbowAngle({row, which="right'):
Lod - ] 5 ' wrist = Point{row[f {which} wrist x"], row[f’
include attributes=True,
- elbow = Point{row[f '{which} elbow x"], row[f’
include pose landmarks=True,
—FEEE_ shoulder = Point{row[f ' {which} shoulder x'], row[f’

)

context = videointelligence.types.VideoContext({person detection config=config)

operation = client.annctate wvideo(
input uri=input uri,
output uri=output uri,
features=[videointelligence.enums.Feature.PERSON DETECTION],

video context=context,

return operation
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return getAngle({wrist, elbow,

def computeShoulderAngle(row,
elbow = Point{row[f {which}
shoulder = Point({row[f
hip =

I-h

def

computeKneeAngle( row
hip = Point(row[f ' {which} hip
knee = Point(row[f {which} kn

ankle = Point{row[f ' {which}

Point(row[f ' {which

il i L
eturn getAngle(hip,

chou

T hip

lder,

shoulder)

w x'], row[f’
_shoulder x'], row[f’
x'], row[f'{which} hi

.
elbow)

_ankle x'],

return getAngle({ankle, knee, hip)
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